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g: 32.1740486 ft/s
Wq[  3,696.00|b
Wy 3,413.00(ib
m;: 114.88 Ib-s/ft
my: 106.08 Ib-s%/t
Ky 4.61|ft
ko: 4.52tt
hy: 2.39tt
hy: 1.80|ft
Iy 2441.3 Ib-ft-s?
Iy 2167.2 Ib-ft-s?
1t 0.788
Yol 0.863
mbar: 45.52
VEHICLE 1] Vehicle 1
Velocity Change 26.77 ftis
VEHICLE 2{ Vehicle 2
Velocity Change 28.99 ftis

Total Energy:| 103,864.5|ft-Ib

1.2464E+6 in-Ib

ENERGY LOSS AND SPEED CHANGE FROM CRASH3
AV VALUES (UNCORRECTED FOR TANGENTIAL IMPULSE)

Veh 1: Cy: Cy: Ca: Cy: Cs: Ce:
[ 21230 | 2030 | 1380 | 1130 | 530 | 480 [inches
1.78 1.69 1.15 0.94 0.44 0.40 feet
crush width: 65.00(in
5.42 it
do: 35.00(sqrt(Ib) A: 4025.00 b/t
do: 35.00 sqrt(lb) A: 335.42 Ib/in
dy: 115.00]sqrt(Ib)/ft B: 13225.00 bt
dy: 9.58 sqrt(lb)/in B: 91.84 Ib/in?
G: 612.50 b
Energy loss due
to normal crush:| 75,352.9]t-Ib VEHICLE 1 Vehicle 1
904,234.4 in-Ib
Veh 2: Cq: Cy: Cs: Cy: Cs: Ceg:
[ 300 | 1580 [ 1350 6.70 3.30 5.00 |inches
0.25 1.32 1.13 0.56 0.28 0.42 feet
crush width: 84.00]in
7.00 ft
do: 30.00|sqrt(Ib) A:  2325.00 b/t
do: 30.00 sqrt(lb) A: 193.75 Ib/in
dq: 77.50(sqrt(by/t B:  6006.25 Ib/itz
dy: 6.46 sqrt(Ib)/in B: 41.71 Iblin?
G: 450.00 1b

Energy Loss Due

to Normal Crush:| 28,511.7|t-Ib

342,139.9 in-b

VEHICLE 2 Vehicle 2

UNIT CONVERSION

NOTATION

W:
Wo:

3

m,:
kq:
ky:

mbar:

weight, Veh 1
weight, Veh 2

> 5
5

o

: mass, Veh 1
mass, Veh 2
radius of gyration, Veh 1
radius of gyration, Veh 2

ki=4/l./m

. PDOF offset, Veh 1
: PDOF offset, Veh 2
: yaw moment of inertia, Veh 1
. yaw moment of inertia, Veh 2

k?
: Vi= ki2+hi2
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7amy +7,m,
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